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(48) Triangles        
(Problem Solving) 

  

(1) The diagram below shows the right-angled 
triangle 𝐴𝐶𝐷 where < 𝐴𝐶𝐷 = 90଴. 𝐴𝐵𝐶 and 𝐵𝐷 
are both straight lines.  

𝐴𝐶 = 7𝑐𝑚, 𝐵𝐷 = √29  and 𝐶𝐷 = 5𝑐𝑚 

 

(a) Find the size of < 𝐴𝐷𝐵. 

(b) Find the area of ∆𝐴𝐷𝐵. 

(c) Find the perimeter of ∆𝐴𝐷𝐵 to 3 SF. 

 

 

  

(1) The diagram below shows the triangle 𝐴𝐵𝐷. 
𝐵𝐶𝐷 and 𝐴𝐶 are both straight lines.  

𝐴𝐵 = 10𝑐𝑚, 𝐵𝐷 = 17𝑐𝑚, < 𝐷𝐴𝐶 = 28௢ and        
< 𝐴𝐵𝐷 = 93଴ 

 

(a) Find 𝐴𝐶 to 1 decimal place. 

(b) Find what proportion of ∆𝐴𝐵𝐷 is shaded darker 
grey? 

(c) Find the perimeter of ∆𝐴𝐵𝐶 

 

 

 

 

  

(1) A parallelogram has side lengths 𝑥 and 2𝑥 and 
one interior angle 𝜃. Given that the area of the 
parallelogram is 6 units, find the possible set of 
values of 𝑥. 

 

 

 

 

 

(2) The diagram below shows a square 𝐴𝐵𝐶𝐷 of 

area 36. 𝐴𝐸𝐶 is a straight line and 𝐶𝐸 = √2. 

 

Find the proportion of the square that is shaded 
giving your answer as a simplified fraction. 

  


